
.XXVLNLUMDLPLQHQ�DYDLQVDQD�RQ�
� � � � � �

� � � � � � � �
�

�

�
�������������

�

�
������� �

�

�

�

�

��
�

��

9DDNDVXRUDDQ
��0DQXDDOLVHVWL�� 0LWl�YRL�WHKGl�NRXNXLOOD�� -llN\OPlVVl
��3LQWW\QHHQ�SRLNDPLHKHQ�SHULDDWHSllW|V
� 1LLVVl�VDD�NLUMRLWWDD�UXXWXXQ�MD�ULVWLLQ

��$DOWRSHOOLVVl�� /LN||ULPDUMRMD�� 9DNDYLD
��7LOLOOl�� (W�� 3DWUXXQD�� $QWDD�SDLQDD
��,NLYLKUHl�SXX�� 7|UNHl�ORXNNDXV�� 7LOLDVHPD�� .lWHLQHQ
��6lH�.DOHYDODVWD
��6H�VDD�NRNLQ�N\\QHOLLQ�� (OL
� 6LOWl�YLHUDLOOH�PRQWD�KDXNNDXVWD
� 1LLKLQ�DXWWDD�SDSHULSXVVLLQ�KHQJLWWlPLQHQ

��3HUKH�MRHQ�WRLVHOWD�SXROHQ�� 3LWNlVW\WWlYl�
� 7XNNLHQ�VHOYLW\NVLLQ�

��0LVVl�KXRPLR�VLLUW\\�SXQNNLLQ�� 6DPRLQ�� 0DKD
�������� � ,OPHVW\V�� +HUlW\VKXXWR�� 0XRULHQ�RWWDPLD�
���.XKXQ�� 2LNHDVWDDQ�KlQ�HL�ROH�QLLQ�NlWHYl�
� .XLWWL

3\VW\VXRUDDQ
��3HVllQ�WXRWXMD�� .RULVWHSXX�� 0DDODLVWDORQ�RORKXRQH
� 8JDQGDQ�KLUPXKDOOLWVLMD�,GL������������

��3DQVVDULQWRUMXQWD�DVH�� 6LWl�YRL�NLHUWll�� 1DWULXP
� 0lOOL�RVXX�NDQWDSllKlQ�UDGDOOD
� 9DQKDNVL�KDXNXWWX�UlPl

��6LWl�SLGHWllQ�DXNL�NLUNRVVD�± +\YlQPDNXLVLD
� 8NUDLQDVVD

��5|\NNL|�� 7KDLPDD�HQQHQ�� $SRVWROLQN\\GLOOl
� 1RWNHD�� 3XKMHQQXW

��3\\OHYlKN|Ml�� 0XODWWL�� 8XGHQ�6HHODQQLQ�DVXNDV
��9LUWDOlKGH�� $MRV�� .DQVVD
� 6LLWl�YRL�NHOMXLOOD�NDOMXLOOH�NDOMRLOOD

��,QWLDODLQHQ�V\VWHHPL�PLOOl�O|\Wll�RPDQ�OXRNNDQVD
� /DXODMD�MD�Ql\WWHOLMl�)UDQN�� 9DLQ�PXXWDPDW
� .XNNDVLOOH

��%ULWWLHQ�MXRPLD�� 0LWl�NDQD�YRL�WHKGl�NXQ�NDDNDWWDD
� +H�RYDW�LQQRNNDLWD�YDLNNDSD�SXWNLW|LKLQ
� 3RKMHSLWXLVHW�QDKNDVDDSSDDW�� 6LQXQNDXSSRMD�YDLOOD

$ $0 (1 +$ +$5 +(5 +,86 +2, -$ -$
-$7 .$ .$ .$6 .$7 .$7 ., ., .,5 .2
.2, .27 .27 .b /, 0$ 0,1 086 087 1$
1$7 1( 1(1 1, 2 2 3$ 3$ 3$, 32,
38 38, 5$ 5$ 5$. 5, 5, 5,6 5,7 58
6$ 6$ 6$ 6( 6(7 6(7 6, 6, 6, 6,
6, 6,1 68 7$ 7$ 7$$ 7$, 7( 7( 7((7
7(1 7, 72 72 78 786 9$ 9$$ 9$7 9,5

(Q�HQQHQ�VLQl�LNlQl
.XXQD�NXOODQ�YDONHDQD
-XRQH�QlLWl�MXRPLVLD
.XLQ�PD�VDDQ�QlKl�RPDQL
2QNR�YDOPLV�YDOYDWWLQL
9DOPLV�YDOYDWHOWDYDQL
7XRS
�RQ�3RKMRODQ�HPlQWl
6DQDQ�YLUNNRL�QRLQ�QLPHVL

6lH9l¶lW /DDWLMD��3HUWWL�0DOR 5DWNDLVXVVD�RQ�VlH�.DOHYDODVWD�SOXV�QlPl WDYXW


